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QUESTION 1

Which statement Is FALSE about data grants?

A. They can be assigned to groups or individual users.

B. They can be assigned to Service Administrators or Power Users.

C. They are used to control what dimensions and members can be accessed by the assigned users.
D. They generate security filters in Essbase when the database is deployed.

Correct Answer: C

QUESTION 2

Which two statements are true about the Rule Balancing table?

A. The default model view Includes the top members across all business dimensions.

B. It shows the potential effects of an allocation before you run It.

C. It Includes the Initial Input value, as well as allocations In, allocations out, and offsets.
D. It shows information for all rules in the selected rule sets.

Correct Answer: AC

QUESTION 3

Which Is NOT Included In the Profitability and Cost Management analytics tools?
A. Trace Allocations

B. Analysis Views

C. Key Performance Indicators (KPIs)

D. Sculler Analysis Graph

E. Rule Update Analysis

Correct Answer: D

QUESTION 4
Which two are valid statements about Profitability and Cost Management application requirements?

A. Changes to Profitability and Cost Management dimensions must be deployed to the underlying Essbase database
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before running allocations.

B. You must have access to a separate instance of Oracle Analytics Cloud (Essbase) to use as the underlying data
storage for Profitability and Cost Management.

C. You can configure the underlying Essbase database as either a Block Storage (BSO) type or Aggregate Storage
(ASO) type.

D. Applications must have a Point of View with Year, Period, and Scenario dimensions.
E. An EPM Cloud service instance can support only one Profitability and Cost Management application at a time.

Correct Answer: BD

QUESTION 5

Which Is the correct EPM Automate command to add a file containing dimension metadata to the Data Management
Inbox folder in Profitability and Cost Management?

A. uploadMstadata
B. addFile

C. uploadFile

D. uploadDimension

Correct Answer: C

QUESTION 6

Which role is required to create and manage user accounts for Profitability and Cost Management?
A. Service Administrator

B. Identity Domain Administrator or Security Administrator

C. Identity Domain Administrator or Service Administrator

D. Identity Domain Administrator

E. Security Administrator

Correct Answer: A

QUESTION 7
Which three are valid functions of logic accounts In Data Management?

A. Logic accounts allow the mapping of a source account based on its value (conditional mapping).
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B. Logic accounts can perform arithmetic operations on source values (arithmetic mapping).

C. Logic accounts determine how the source fields are stored In the Data Management staging tables (storing
mapping).

D. Simple logic groups enable you to derive logic items front any combination of dimensions (derived mapping).
E. Logic accounts allow the mapping of one source account to multiple target accounts (statistical mapping).

Correct Answer: BCE

QUESTION 8

Your Profitability and Cost Management Cloud application contains a product dimension with 150 products. You\\'ve
received a dimension data file containing only a list of 10 new products that need to be added to the current product
dimension. You use the file to import the new product members, using the Update Dimensions option in the Profitability
Application Console.

Which result describes what will happen?

A. The dimension update fails with errors and no changes are made to the product dimension.

B. The 10 new members are appended to the bottom of the existing product dimension.

C. The product dimension is replaced by the contents of the update file; only the 10 new members reside in the product
dimension after the update.

D. The 10 new members are merged Into the product dimension and sorted alphabetically.

Correct Answer: C

QUESTION 9

Which are valid parts of an Analysis View Definition?

A. a Row Dimension and multiple Column Dimensions and a Rule Set
B. a Row Dimension and a Column Dimension and a range of Rule Sets
C. a Row Dimension and multiple Column Dimensions

D. a Row Dimension und a Column Dimension und a Rule Set

E. a Row Dimension and a Column Dimension

Correct Answer: B

QUESTION 10

Which two statements are true about model validation?
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A. You cannot deploy the application if model validation returns Invalid conditions.

B. Model validation validates rules, rule sets, and dimensions.

C. Running a model validation displays an error table with Information about Invalid conditions.

D. After the application is deployed, it can detect invalid model artifacts if changes are made to dimensions.

Correct Answer: BC
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